Al

Ol &F A

Al A

028HE FZ 2 3| es|H Ml
A= SAHER= SA 0 RAZAIE
3 VLA SHSYHLSISHY/LBHAT)

ol 2SS NSANEE (SH &)
AR .24 ZE . G230 - NIRAY - BES ol ke ol & o SimE==t
KA H= 181,544,208 182,737,280 1,198,072

= 4,832,400 3,309,900 1,522,500
= 6,158,538 6,177,038 18,500
Jl 4,224,212 4,224,212 0
< 123,660,810 126,357,882 N2,697,072
CH 42,668,248 42,668,248 0
KIZAICHE 24 1t 3,125,682 3,140,772 15,090
fas 98,700 117,200 18,500
< 3,026,982 3,023,572 3,410
NEA & ERI 2 S LSS Y /Lot E) 2,044,450 2,016,450 28,000
LAY ESSENLANUEE 1,809,950 1,781,950 28,000
NLAIHER=E 844,520 801,520 43,000
201 2Bt ] 407,200 377,200 30,000
03 A= &I 80,000 50,000 30,000
OXEA U2 ES 30,000 0 30,000
202 04l 13,000 0 13,000
01 A 13,000 0 13,000
OXSAIHERFA 0 13,000 0 13,000
T3St 42 2d 48,000 63,000 15,000
201 ZBt=3hl 48,000 63,000 15,000
03 SAr2 I 20,000 35,000 15,000

O =setec| A e M AI0ILHEZE)IHE(
donzh) 0 15,000 15,000
NSAHE A (L SSHY/LEed) 474,310 474,010 300
= 56,350 56,200 150
< 417,960 417,810 150
o= 462,700 462,400 300
z 56,350 56,200 150
< 406,350 406,200 150
NS SIS MR 112,700 112,400 300
z 56,350 56,200 150
< 56,350 56,200 150
202 04t 5,300 5,000 300
= 2,650 2,500 150
< 2,650 2,500 150
01 A 5,300 5,000 300

OXSHAUARLFAAE (D SEY)

&4 5,300,000 5,300 5,000 300
= 2,650 2,500 150
< 2,650 2,500 150
N&EtsLrne(ad/ad2sdet) 430,910 440,000 9,090
NEtsL M= 430,910 440,000 9,090
NEotsgd ™+ 100,910 110,000 29,090




A= XA A KIZAICHE 24D}
Y (SIS LHEY
SE HIPNESIE S

AZ 2N - FB - OI(SH) - NRAY - BIES 0 &t ol o

207 ATOHL b 90,910 00,000

NEEEET 9,910 00,000
Wy E R IR SRR

A 90,910,002 9,910 00,000

S 2 2 H| (XL AICHE D) (IEL/DIED 176,012 210,312

2 42,350 61,000

= 133,662 149,312

0121 2 | (X LA CHE = D) 84,700 22,000

2 42,350 61,000

= 42,350 61,000

SEEETEES 84,700 22,000

2 42,350 61,000

= 42,350 61,000

101 21248 84,700 22,000

2 42,350 61,000

= 42,350 61,000

02 JIEIE B4 84,700 22,000

mpEENECEER 237,300 0

2 218,650 0

= 218,650 0

=24y 91,312 88,312

Jl= 2] 91,312 88,312

204 KP4 A | 34,800 31,800

NEEEEEES BT 34,800 31,800

ORSHS K22t 3,000 0




H & 0l & AHS B Ml A

od
i’
o
uJ

D oIpH

= A

B OB R BIR|BR &3
[aN] Al NN NN [aV}
A0
Klo
E
E=)
S I oA
s |88 8
R | S
~
LS RNR B K|BR &
B-88
S E =
<
=
WS
or
X0 >
=) =
. )
3l @
< )|
Ik =
= o
. =
m N m
- oF
ol = Wl
= = n o
o m) W I
oJ o “m.._ﬁ_r_.
N = o <
®l el WA KK
R0 Rl s |m|y R
. RO o |w | 8~
% H Kilzl | R
b Siw | Hlyls U
. = NMEEIE
o |® __4.*_@_%2
LI 0
SU I =
ol




Hl £ 0l & AL E Al M
202349 E =F 2 3 LBEIH A
A= NAUHEH= FA O HAEHY
I FEIHH(MASN/ =S)
el FEdHIIELTE (Gt H2)
A= 24 - Z3H - GHA(E) - MFAY - BES Ofl &2y I3 ] ImE=r",
A3 30,603,834 28,544,051 2,059,783
= 4,725,000 3,292,500 1,432,500
[as 6,059,838 6,059,838 0
= 18,818,996 18,191,713 627,283
CH 1,000,000 1,000,000 0
FEHEHH(MAEN/ =3) 30,527,2% 28,463,313 2,063,983
= 4,725,000 3,292,500 1,432,500
[as 6,059,838 6,059,838 0
< 18,742,458 18,110,975 631,483
CH 1,000,000 1,000,000 0
HEFHMD |2 EH 3,589,820 3,567,320 32,500
= 1,085,000 1,002,500 32,500
< 1,564,820 1,564,820 0
CH 1,000,000 1,000,000 0
HESHX A 1,112,500 1,080,000 32,500
= 1,085,000 1,002,500 32,500
T 77,500 77,500 0
307 2IZtol& 1,112,500 1,080,000 32,500
= 1,085,000 1,002,500 32,500
5 77,500 77,500 0
02 QB MAIHE X 1,112,500 1,080,000 32,500
OEEE X2 AL
& 1,112,500,0002 1,112,500 1,080,000 32,500
= 1,035,000 1,002,500 32,500
< 77,500 77,500 0
HEFHLAH LS 6,473,449 6,519,566 N6, 117
z 2,428,794 2,428,794 0
= 4,044,655 4,000,772 N46,117
CHerd Xtel Sl AR (I X) 360,000 315,000 45,000
308 AXIHMSOIH 360,000 315,000 45,000
01 HXHMBdEx= 360,000 315,000 45,000
LtHst Al S LK
44 360,000,000 360,000 315,000 45,000
== 269,628 350,000 A\80,372
307 2IZtol& 269,628 350,000 A\80,372
02 QIZHEMAIHE X 269,628 350,000 180,372
Osallgedsisgdna
d& 269,628,000 269,628 350,000 180,372
RIFH A A NS XNE (FIHEXH) 130,255 141,000 A10,745
308 ARISMSOIE 130,255 141,000 A10,745
01 MRS SEXS 130,255 141,000 A10,745
ORI IFgEALs =4 RE
48 100,255,000 100,255 141,000 A40,745
ORI IFSEAH LS UASERN A (AANE) 30,000 0 30,000




D NEAIE R =

I FEIHH(MASN/ =S)
el FEEgletry (Gt H2)
A 2N B G(B) - NRAY - BES 0 &y ol B o HIRS

FAZYo|gtad 9,699,227 9,474,627 224,600
= 2,928,294 2,928,294 0
LS 6,770,933 6,546,333 224,600
BIOIAHAHOIARR2S (SIHEERE) 144,600 0 144,600
307 2IZtoI& 144,600 0 144,600
02 QZHEMAIHE X 144,600 0 144,600
COOIHAHOIAR=2SE (B ) 144,600 0 144,600
HUNSHASCHSIAIE (IR EXH) 80,000 0 80,000
307 2IztolI& 80,000 0 80,000
02 QIZHEMAIHE X 80,000 0 80,000
O usSs A =S 80,000 0 80,000
FasiAderd 9,692,300 7,872,300 1,820,000
= 3,690,000 2,290,000 1,400,000
Fas 627,750 627,750 0
< 5,374,550 4,954,550 420,000
HEAZ MR AL 4,407,000 2,587,000 1,820,000
= 3,390,000 1,900,000 1,400,000
< 1,017,000 597,000 420,000
308 XXM SOl 4,407,000 2,587,000 1,820,000
= 3,390,000 1,990,000 1,400,000
T 1,017,000 597,000 420,000
01 MASHHBSEXRS 4,407,000 2,587,000 1,820,000

OFESMR2AIL (8 H)
d& 4,407,000,0002 4,407,000 2,587,000 1,820,000
= 3,390,000 1,990,000 1,400,000
< 1,017,000 597,000 420,000
HASSAA L 1,072,500 1,039,500 33,000
[as 75,000 75,000 0
= 997,500 964,500 33,000
ISHUARSLHSI S H ALY 33,000 0 33,000
308 XXM SOl 33,000 0 33,000
01 IXHMBdE2x= 33,000 0 33,000
D=3 H2S T HSI T AEE 33,000 0 33,000
AY2SZY(FHZ W) (DIEHIIE}) 73,080 77,280 A4,200
Jl23tl 73,080 77,280 4,200
Jl2&sl 73,080 77,280 4,200
204 XA 0 4,200 A4,200
01 R =g+ 0 4,200 24,200
OaEg 2 (dA) 0 4,200 4,200
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AR NYAUZRR =M DREAD
Hu: XAOIWSHYSH DT/ DSDS)
ohel: Motaelg NS N (o) @)
A= 2N - BB S9(S) - HISAY - BES il v ol o HlDE2
NEREPE IR 2,853,000 3,153,000 300,000
X125 A1 25 A CHSERI 2 R 4 (RISE) 2 700,000 1,000,000 300,000
308 XHAISHAISOIH 700,000 1,000,000 300,000
11 BII S OICHEHZ A I EALIH] 700,000 1,000,000 300,000
(X148 4125 A1 T X1 2 (RISE) =8
21 700,000,002 700,000 1,000,000 300,000
#H2SAH (RS2 OIEHIIE 89,814 71,814 18,000
IR 89,814 71,814 18,000
Jl= 2| 89,814 71,814 18,000
201 2er2eiy| 44,314 34,314 10,000
01 AFR 22| 44,314 34,314 0,000
mEETES=T] 24, 154 16, 154 9,000
ONSEELSE Y|
23 10,600,002 10,600 6.600 4,000
OYRFTRILIS
A3 10,700,002 10,700 5,700 5,000
Oeg+g 6.000 5,000 1,000
OS5l S U BDALAA+LS
2% 6,000,002 6,000 5,000 1,000
202 Oft 42,500 34,500 8,000
ETETT 42,500 34,500 8,000
mEEEES I A3 33,600,009 33,600 27,600 6,000
mEEESSIIT 2% 8,900,002 8,900 6,900 2,000




N EEE
DY

g g Al

FOISSHEHFN
K- B8 BRI(B) - MRAY - BaS 0 &t ol & o
t 8,421,186 8,621,186
| 4,224,212 4,224,212
= 4,196,974 4,396,974
QMU (ABSX/ES - NHEL0AH) 833,240 1,033,240
AFCIESSHEBHFN 100,000 300,000
ASHIAWEH2YE 100,000 300,000
308 AXIHMSO0I& 100,000 300,000
11 SISO E AR PE A 100,000 300,000
OESHIAHEESS
Z& 100,000,000 100,000 300,000




